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Subtracting Decimals

Name:

Solve each problem.

1) 56.39+ 13.2=

2) 5256-37.71=

3) 9351-62.954=

4) 14.80-6.8=

5 12574 +5.402 =

6) 10.1+ 5.56 =

7) 2.701+0.08 =

8) 64.477-257 =

9 42-07=

10) 74.565 + 68.855 =

11) 59.8-4.747 =

12) 68.8+6.6=

Answers

10.

11

12.
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ﬂh Subtracting Decimals

Name: Answer Key
Solve each problem. Answers
1) 56.39+ 13.2= 69.59
1. 69.59
2, 14.85
2) 5256-37.71= 14.85
3 30.556
3) 9351-62954= 30556 4 8
5. 17.976
4) 14.80-6.8= 8
6. 15.66
7. 2.781
5 12574+5402=  17.976
8. 61.907
6) 10.1+556= 15.66 9 3.5
10, 143.42
7) 2701+0.08= 2781
117 55.053
12 75.4
8) 64.477-257= 61907
9 42-07= 35
10) 74565+ 68.855=  143.42
11) 59.8-4.747=  55.053
12) 68.8+6.6= 75.4
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C:# Subtracting Decimals Name:

Solve each problem. Answers
3.5 69.59 2.781 15.66
14.85 8 17.976 30.556 1.
143.42 61.907

1) 56.39+13.2=

2) 5256-37.71=

3) 9351-62954= 6.

4) 14.80-6.8=

5) 12.574+5.402=

10.

6) 10.1+5.56=

7) 2.701+0.08=

8) 64.477-257=

9 42-07=

10) 74.565 + 68.855 =
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